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Marking instructions

MARKING - GENERAL

1.

10.

Where a candidate has crossed out a complete part of a question, it should be marked provided
that it has not been replaced.

If two or more methods are offered, mark the method that leads to the answer on the answer line.

Method marks are for a full correct method but may be lost if subsequent incorrect method is
shown.

Unless a particular method has been specified in the question, full marks may be awarded for any
correct method. However, if a calculation is required then no marks will be awarded for a scale
drawing.

Where the answer in the answer space is incorrect because of a clear transcription error, then
marks may be awarded.

Occasionally a candidate will misread a number in a question and use that value consistently
throughout. Provided that number does not alter the difficulty or method required, award all marks
earned and penalise 1 mark. M marks are still awarded in any case. Record this by using the MR
annotation.

Unless specified in the question, answers may be given as fractions, decimals or in standard form.
Ignore superfluous zeros provided that the degree of accuracy is not affected.

Allow any sensible notation. Watch out for commas being used for decimal points and dots being
used for products. Brackets may be seen to represent inequalities.

Anything in the mark scheme which is in square brackets [...] is not required for the mark to be
earned, but if present it must be correct.

FT — A correct answer will score or follow through after an error.
Strict FT — you must follow through from their error. These will be indicated in the mark scheme.
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ABBREVIATIONS IN MARK SCHEME

Abbreviation Meaning

M Method marks — for a correct method applied to appropriate numbers
A Accuracy marks — depend on M marks. Hence MO A1 is not possible
B Independent of method marks — for a correct final answer or intermediate stage
SC Marks given in special cases only when indicated in mark scheme
FT Work can be followed through after an error

isw Ignore subsequent working (after correct answer obtained)

cao Correct answer only

nfww Not from wrong working
oe Or equivalent

SOi Seen or implied

eeo Each error or omission

dep Dependent on the previous mark(s)

ACCURACY

1. If a question asks for a particular level of accuracy then the mark scheme will include specific
details.

2. In other cases, the following apply:

e More than 3 sf in the answer but correct (either rounded or truncated to 4 or more figure
accuracy) — allow full marks.

e Less than 3 sf in the answer but correct to 3 or more sf seen in the working — allow full marks
even if rounded incorrectly.

e 3 sfincorrect in the answer but 3 or more correct seen in the working — allow full marks.

e If the third sf is zero after the decimal point (e.g. 15.0) then allow marks for 2 sf answers
providing no wrong working is seen.

3. General principles are:

e 2 sfanswers will not imply method in most cases.

e If the final answer on the answer line has clearly been spoiled from the 3 sf or more answer
seen in the working (more than just rounding errors) don’t allow the marks.

e Mark at most accurate which is usually where the answer is first seen.

e If the most accurate answer is incorrect then it scores zero, even if it has been correctly
rounded into a correct answer.

e If this answer is then used in another part of the question then any M marks are available.

e If an accuracy FT is also available in the new part, then give the FT mark for a correct follow
through from a value which has lost the accuracy mark in the first part.

e However, a correct value from the first part may have been given the accuracy mark but has
then been rounded incorrectly and this has been condoned. If the wrongly rounded value is
used in the new part and leads to an incorrect answer, even if correctly followed through, then
this should not receive the accuracy mark here and should not be treated as a FT case.
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4. Exact answers involving 7t and \/_

° Exact answer 2.345 &t

e Exact answer V23

© UCLES 2015

Unless question is set in context (where some appreciation of
appropriate accuracy is required),

allow A1 for 2.345 & on the answer line,

allow A0 for 2.35 .

Mark scheme will indicate in final column if marks to be allowed.
Scores A1 if the question is not set in context and the V(prime
number) is given on the answer line.

Scores A0 if the question is set in context (where some appreciation
of appropriate accuracy is required).

Surd answers which simplify need not be implied e.g. V12 or 23
are acceptable but not irrational denominators — if simplified, mark
the simplified answer i.e. not isw.

Mark scheme will indicate in final column if marks to be allowed.

0626/06/SM/17



90 [ 7L = (x112Y1) x 019 10J TIAl 10

0b9 + 1TL = (X 412Y7) 10§ TIA[ 1O
["¥120€0°0 =10 [*""Z0]€0T JO 10msue
Aq perjdur) 10m0q 10 049 + 1L /v [= X] 10J €N

MMJU 70 03 020 10 C0°¢E

()

U33s 2q ISnjN

1d
TIN

..s.oﬁu
30 420'T X 019

»

(®

[%]8TT Ysm pajeroosse 8101 10J [IAl 10
90 QI'T + 8101 10F TIN

0098

(@

I9N9q
JO JS¢ 0} papunos wioj pIepue)s 0) pAjIdAU0d
A[3091109 SAMI JO IoqUINU .£22Y7 10] LATH pPue
9181 0} G[8[ 31y 1o

781 83 £q 108 6¢ s3Y + Z[LOT S3Y 10J TIAl 10
90 65 +000CILOT 0F TIAL 10

udd3s )09 I81 03 00S 181 10 000 Z8T 10 €4

0T X 9181 01 O X §T8'[ 10
01 X781

()

el + TILOT 40 mlwﬂ +Z1L01 10F TIN

[¥°86L 03 "'86L 10 6L

»

(®

0911 £q 108 67 x 5= 105 T 10

62’ [0] x 0% 103 TIN

911

©)

d
I0J %49°() 10 L$9 10 [ ooy

JOMSUE Se G| SS1J 10} 7DS 10

6’11 Jomsue I0J €S PaI0ds () JT
90 10T 1247 +~ 00t C 10} LATIN

7€0 XL X ZI0TE XL X ZIOf [IA 10
10 10} Td

oed ]

(@

06'0 49

o3e1s Aue e $1509 1217 SurA[dnnw 103 Al pue
[¥8°€9]1 90 <0'T x [0]T €S -#2y7 10) TIN

uads 10)39q

100TT x¥+09¢€pPue X+ 910} [N 10
(0z'1

Xy +09°€) X €+(Tx¥+9)9xTI0J TN 10
uaas [0]z €S 105 €4

LT0S

(®

DEITNG

SYIRIA Jed

A 1B

SIdMSUY

[Turn over

0626/06/SM/17

© UCLES 2015



ud3as
S'6€ET 10 001 Aq parjdur TIA

S'0L X 61 10 0L X 0T JoWID 10§ TIAl 10
90 §'0L X 61 — 0L X 0T 10 TIN

§09

(@

UOISSTWO

JO IOIId I3Y)INJ SUO dUOPUOD
pue A1epunoq Ioyiro Surpnjouf
UOISSIWO JO JOLId U0 UOPUO))
€10J [0 x 0€ 32

(C1+8+01+9+¢)+1I0
6€ + 10J (TTA pPu0d3s uo Judpuadap) [IA
[sLeT]

[S8 XTI +69%8+5S X0l +0Fx9+SI x¢]
UMOUS 9q Jsnwt A3y} pue s1339jur

popraoid sorouonbaij .19y} MO[[e [BAIdIUL

(OB UL dN[BA AUB SI X dIOUM X/ I0J TIAI

10s €8 °G9 ‘S¢S

‘0O ‘G sonjeA [BAIIUI-PIW JO { 1SBI[ JB 10J [N
10s 8

‘01 9 ‘¢ sorouonbayy B1Xd J091109 4 10 ¢ 10} Tg

MAMJu- "68°09 10 6°09

POYIOW ASIOAL OU —

11 9SN JOU PUB 7| J& OALLIR ISNA
. =X

70 10J y3noud 0N

X

ot € =

90 (¢ x 8L 1doooy

144

Topeq 10 [Z1 =] #°0 % (0L — 001)

»

(®

BAIR
JUBAS]QI QU0 puly 03 1dWwoNe 1091100 I0J A 10

20 91(0T +$2) m 10J TIN

08¢

()

131319q 10 =
_”N mu_ 1 91

»

(@)

2} AQ UOISIAID 3031100 © 10§ [Al

7 Aq uoneoridninu 1091109 © 10§ TIAI

Loy

D 9y} 1L[0SI 0} JUSWSUBLIBAI 1091100 © 10J [JAI

7

mmju 0 —&
(n—s)

(®)

20 (10— 1) x 00TT TIN

JOMSUE [eUL} 08§/ 8

(@)

DEITNG

SYIRIA Jed

A 1B

SIdMSUY

0626/06/SM/17

© UCLES 2015



SJUQIPEIS JO JABALIOP

Pu0923s “3o pury 03 3dwdre 3021100 A 1O
(Suosear ou YIIM) 1991109 dUO 10J [ 10
UOSBAI QUO/OU [IIM 191100 J)0oq 10} 7q

UOSEBAI 1091100 YA WNWIUIW (9[- )
U0SBAI JOAII0D (M WnwIxew (9] ()

()]

(91— %) pue (91 ‘0) IV
p=Xpue(=x[v

xp/Ap 41217 SUISLIONOR] JOF TIA
0 = Xp/Ap 412y} SUMdS 1

XT] — £X€ 1991100 1Y

X1 10 px¢ 10§ TIA

91- ) (91 ‘0)

(®

J9119q 10
T + (ouesIp x 0L) = (0f UIS QL X m@m Ioj 10

s
101399 10 SSUDISIp Of uIs 10J TN

MMJU CETCE 10 H0E

P)

seare
o[SueLy) 9y} JO SUO JOJ POYIAUW JOILI0D I0J JJA] 1O

90 (€ — 0o -12Yy7 — 08 1) UIs (q) 1121} X (L) m +

(Op IS 0L x mam 10§ T

MAMJU - 901 01 €90% 10 090

©)

uonenba jrordwr 3091109 10J TIA 10
ceurs

(0% 1242) UIs QL

10s Oy =D@d °I3ue 10} Iq

10} TIN

1678 010618 10 6'18

(@

["1'920T 10} 1V
uonenba jrorpdur 3091109 10J [JA 10

0 S0 0L X §S X T— 70L + ¢SS 10} TIN

MMJu 706y 03 10°Sy 10 [0]° st

(®

DEITNG

SYIRIA Jed

A 1B

SIdMSUY

[Turn over

0626/06/SM/17

© UCLES 2015



[L¥ 03 88°9%] (8 x X x 09¢/Tt) X T 10F TIAl pue
[ 19 01 L€ 19] ($8°¢ x §) x T 10J TIA pue

[L8's
01 98°G] 10590 8 x T X % X 09¢/TH 10] TIN
10
[esce
01 8%°7C] 90 $8°¢ x 8 X T X 1 X 09¢/Tt 10F TIN S MMJu 6°0€T 01 L7 0ET 10 €T | (1)
v LES€019¢€8°C
78 X U X (09¢/Cy 10} TN 10
06 =YX 8xUX09E/CY 0 TIN | €N %0 (8 X% x09¢/Tk) + 06 | (1) (¥)
v €)=+ (s —€IP
TN
oy — VA payy) 4 (9x a2y — Vi a1oyp) A (©
=4+ xo0ur
x 119y} Sunmnsqns A[Jo1I100 I
uonenbo G—=A¢c—=410] LAV
orjeapenb 110y} SuIsLIoloe €—=X°‘C=x10J IV
0 = (€ +2)(S —X) 10§ LATI
0=
03 onjeapenb 110y} Surduerreay 90 () = 0 — Xy — X7 10§ LATIN
A—7=x1I0
x—7 =A10J TIAl 10
pe = A+ (c—4) 10
PE=(x—7)+ ¥ (S ‘¢
0}TN | 9 (€=°¢) (®)
S9)ON SHIBIA }ed MIBIA SIIMSUY ‘nd

0626/06/SM/17

© UCLES 2015



onJeA 1991109 U0 I0J [V
suonenba eour| yo ared woiy

q 10 v uneurwr[d A[)0a1109 103 (dopur) TIA
suonenba 9A0qe A} JO pug B 10} TIA

0 0f=¢€+96+PLT0 T]
=T+qp+1890 ¢=1+q+vjo ] Aueio} [N
0g uoy)  weiderp

wouy A[uo A[IEA[d 0§ J11Nq U 0 10 T 10§ 1 | 9 20 <[-q]00 &[-7] (@
uods 7 10} 14 4 20 [ _,C (® | o1
o0 SCC_ m&. 10
06 (¥8°€
§'TC 06
Udds 30 —== JO20 —— IO IO
06 ] ¢ SR
__06 A _y
STTx¥8¢E/ ¢
10 20 % \/\m X $8°¢ 10 TIN € oIV COI 9y T I0 T T (®
S9JON SYIBIA 3R] MIRIA SIdMSUy ‘nQ)

[Turn over

0626/06/SM/17

© UCLES 2015



10

BLANK PAGE

© UCLES 2015 0626/06/SM/17



